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GIE U = S O /S =
BOOE O&# W  Hf
4 R SRR U H AR FEEF I TR EE
v A B C(D+G) D(E+F)
% 8 7 5 S g % (%) (%) 71 (%) % (%) (%) 71 (%)

1 |EERARAH 532 505 1,037 529 496 1,025 375 (70.89) 343 (69.15) 718 (70.05) 218 (41.21) 181 (36.49) 399 (38.93)
2 | BT/ NS 3,201 3,311| 6,512] 3,173 3,283 6,456] 1,906 (60.07) [ 2,084 (63.48) | 3,990 (61.80) | 1,085 (34.19) [ 1,148 (34.97)| 2,233 (34.59)
3 |4 N 3,989 4,317| 8,306 3,967 4,291| 8,258 2,593 (65.36) | 2,931 (68.31) [ 5,524 (66.89) | 1,466 (36.95) [ 1,582 (36.87)| 3,048 (36.91)
4 |ertipiArr|  1,406) 1,422| 2,828 1,391 1,413| 2,804 875 (62.90) 939 (66.45) | 1,814 (64.69) 509 (36.59) 517 (36.59) | 1,026 (36.59)
5 | KRE/NFRE 4,095| 4,424 8,519| 4,062 4,399 8,461| 2,503 (61.62) | 2,819 (64.08)| 5,322 (62.90) | 1,510 (37.17)| 1,611 (36.62) | 3,121 (36.89)
6 | ST 3,369 3,598| 6,967| 3,334 3,572 6,906| 2,125 (63.74) [ 2,261 (63.30) | 4,386 (63.51) | 1,272 (38.15) [ 1,307 (36.59) | 2,579 (37.34)
7 |Zf=ta=7 448| 445 893  445| 445 890 319 (71.69) 326 (73.26) 645 (72.47) 206 (46.29) 183 (41.12) 389 (43.71)
8 [Pt/ N 2,066 2,070 4,136] 2,050] 2,058| 4,108 1,329 (64.83)| 1,392 (67.64) | 2,721 (66.24) 891 (43.46) 910 (44.22) | 1,801 (43.84)
9 [pIHh AT 1,176| 1,166 2,342 1,169 1,162| 2,331 791 (67.66) 775 (66.70) | 1,566 (67.18) 638 (54.58) 580 (49.91) | 1,218 (52.25)
10 (AT Hb X 2> A 386 379 765 383 379 762] 252 (65.80) 263 (69.39) 515 (67.59) 183 (47.78) 173 (45.65) 356 (46.72)
11 | H e 3T 599 572 1,171 598 569| 1,167 395 (66.05) 401 (70.47) 796 (68.21) 313 (52.34) 301 (52.90) 614 (52.61)
12 | R 22 255 100 93 193 100 93 193 90 (90.00) 74 (79.57) 164 (84.97) 88 (88.00) 74 (79.57) 162 (83.94)
13 [ X > 958 974 1,932 954 969 1,923 687 (72.01) 730 (75.34) | 1,417 (73.69) 471 (49.37) 490 (50.57) 961 (49.97)
14 | KES T 332 307 639 329 303 632 233 (70.82) 210 (69.31) 443 (70.09) 152 (46.20) 137 (45.21) 289 (45.73)
15 | =X 2 138 118 256 137 118 255 97 (70.80) 80 (67.80) 177 (69.41) 68 (49.64) 53 (44.92) 121 (47.45)
16 | Z b5 H X > A 111 99 210 110 99 209 81 (73.64) 77 (77.78) 158 (75.60) 62 (56.36) 53 (53.54) 115 (55.02)
17 [ R X 2 107 78 185 106 78 184 62 (58.49) 53 (67.95) 115 (62.50) 41 (38.68) 38 (48.72) 79 (42.93)

Rt 23,013 23,878| 46,891| 22,837 23,727| 46,564| 14,713 (64.43) | 15,758 (66.41) | 30,471 (65.44) | 9,173 (40.17) | 9,338 (39.36) | 18,511 (39.75)
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BT E F G
5 (%) 7z (%) 71 (%) % (%) (%) 71 (%) % (%) (%) 71 (%)

1 |EERARAH 218 (41.21) 177 (35.69) 395 (38.54) 0 (0.00) 4 (0.81) 4 (0.39) 157 (29.68) 162 (32.66) 319 (31.12)
2 | BT/ NS 1,065 (33.56) | 1,141 (34.75) | 2,206 (34.17) 20 (0.63) 7 (0.21) 27 (0.42) 821 (25.87) 936 (28.51) | 1,757 (27.21)
3 |4 N 1,450 (36.55) | 1,567 (36.52) | 3,017 (36.53) 16 (0.40) 15 (0.35) 31 (0.38) | 1,127 (28.41) | 1,349 (31.44) | 2,476 (29.98)
4 |& B AT 504 (36.23) 510 (36.09) | 1,014 (36.16) 5 (0.36) 7 (0.50) 12 (0.43) 366 (26.31) 422 (29.87) 788 (28.10)
5 | KRE/NFRE 1,495 (36.80) | 1,585 (36.03) | 3,080 (36.40) 15 (0.37) 26 (0.59) 41 (0.48) 993 (24.45) | 1,208 (27.46) | 2,201 (26.01)
6 | ST 1,259 (37.76) | 1,298 (36.34) | 2,557 (37.03) 13 (0.39) 9 (0.25) 22 (0.32) 853 (25.58) 954 (26.71) | 1,807 (26.17)
7 [Zf=a=71 204 (45.84) 180 (40.45) 384 (43.15) 2 (0.45) 3 (0.67) 5 (0.56) 113 (25.39) 143 (32.13) 256 (28.76)
8 | P/ AR 880 (42.93) 893 (43.39) | 1,773 (43.16) 11 (0.54) 17 (0.83) 28 (0.68) 438 (21.37) 482 (23.42) 920 (22.40)
9 [pIHh AT 629 (53.81) 574 (49.40) | 1,203 (51.61) 9 (0.77) 6 (0.52) 15 (0.64) 153 (13.09) 195 (16.78) 348 (14.93)
10 [T Hi X 2 181 (47.26) 171 (45.12) 352 (46.19) 2 (0.52) 2 (0.53) 4 (0.52) 69 (18.02) 90 (23.75) 159 (20.87)
11 | H e 3T 311 (52.01) 297 (52.20) 608 (52.10) 2 (0.33) 4 (0.70) 6 (0.51) 82 (13.71) 100 (17.57) 182 (15.60)
12 | 2 4 46 (46.00) 29 (31.18) 75 (38.86) 42 (42.00) 45 (48.39) 87 (45.08) 2 (2.00) 0 (0.00) 2 (1.04)
13 [ X > 463 (48.53) 484 (49.95) 947 (49.25) 8 (0.84) 6 (0.62) 14 (0.73) 216 (22.64) 240 (24.77) 456 (23.71)
14 | &S 148 (44.98) 135 (44.55) 283 (44.78) 4 (1.22) 2 (0.66) 6 (0.95) 81 (24.62) 73 (24.09) 154 (24.37)
15 | =X 2 66 (48.18) 53 (44.92) 119 (46.67) 2 (1.46) 0 (0.00) 2 (0.78) 29 (21.17) 27 (22.88) 56 (21.96)
16 | Z5 M5 L X 23 A 62 (56.36) 50 (50.51) 112 (53.59) 0 (0.00) 3 (3.03) 3 (1.44) 19 (17.27) 24 (24.24) 43 (20.57)
17 [ R X 2 41 (38.68) 38 (48.72) 79 (42.93) 0 (0.00) 0 (0.00) 0 (0.00) 21 (19.81) 15 (19.23) 36 (19.57)

Rt 9,022 (39.51) [ 9,182 (38.70) | 18,204 (39.09) 151 (0.66) 156 (0.66) 307 (0.66) | 5,540 (24.26) | 6,420 (27.06) | 11,960 (25.69)
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